Calculus I, Drs. Nogin and Wyels, F’06

Names




Lab 6 – Integration

You may fill in tables and short-answer questions by hand if you wish.  Your explanations are the critical part of this lab – type them in, and make them accurate, clear, and thorough.  Note that some examples are provided in the Maple file lab06_f06.mw.  Due:  before class on Tues., Nov. 28.

1. Carry out the following instructions to examine 
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a) Fill in the first four rows of the table, then use Maple to compute the entries of the last row.  (Ask Maple to “simplify” the last entry.)

	n
	10
	50
	100
	“n”

	
[image: image2.wmf]x

D


	
	
	
	

	
[image: image3.wmf]i

x


	
	
	
	

	
[image: image4.wmf])

(

i

x

f


	
	
	
	

	
[image: image5.wmf]å

=

D

×

n

i

i

x

x

f

1

)

(


	
	
	
	

	value of 
[image: image6.wmf]å

=

D

×

n

i

i

x

x

f

1

)

(


	
	
	
	


b) What is 
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c) What is
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d) Carefully explain how all the pieces of this problem are related.

2. Carry out the following instructions to examine 
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a)
Fill in the first four rows of the table (by hand if you wish), then use Maple to compute the entries of the last row.  (Ask Maple to “simplify” the last entry;  don’t worry if you don’t recognize the result.)

	n
	10
	50
	100
	“n”
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b) What is 
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c) What is 
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d) Carefully explain how all the pieces of this problem are related.

3.
A new function 
[image: image17.wmf])

(

x

f

 is defined in the Maple worksheet Lab 8.  Use Maple to calculate 
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4.
For each of the integrals shown, i) carefully enter the integral into Maple, ii) find the value of the integral (this will be a function), and iii) find the derivative of the function found in ii).  (The first row is provided as an example in the Maple worksheet.)

	integral
	value of integral
	derivative of previous column
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Key:  What do you observe?  Carefully state a conjecture about what you think is going on here.
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